Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232/777 00

'II Y 4 Y 4 Fax: 02232 /777 00 - 40
A A 4 A A A A Mail: verkauf@makita.at
Web: www.makita.at

Makita Service Information / Model: BMR102W

Seite 1/4

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:39:53 AM /



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232 /777 00

Fax: 02232 /777 00 - 40

Mail: verkauf@makita.at

Web: www.makita.at

V77717, dbds

Makita Service Information / Model: BMR102W

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
1 SEQ0000140 PRINTPLATTE A BMR102 1 N/A
1.2 SEQ0000266 PRINTPLATTE A BMR102 1 N/A
SE09163102 SCREW M3x10 5 N/A

3 SEQE000155 PRINTPLATTE C BMR102 1 N/A
3.2 SEQ0000297 CIRCUIT BOARD C ASSY 1 N/A
4 SE09163102 SCREW M3x10 6 N/A
5 SE09090011 SCREW 1.7 13 N/A
6 SE020PC020 Power button holder 1 N/A
7 SE00000157 Druckknopf BMR102 1 N/A
8 SE020PC0O30 Preset button holder 1 N/A
9 SE00000158 Einstellknopf BMR102 1 N/A
10 SE09064161 SCREW M4x16 1 N/A
11 SE09163102 SCREW M3x10 2 N/A
12 SE09064161 SCREW M4x16 2 N/A
13 SE00000204 VORDERER DECKEL BMR102 1 N/A
15 SE09064161 SCREW M4x16 1 N/A
16 SEQ0000159 GUMMISCHUTZ vorne BMR102 1 N/A
17 SE@338PC5Z Front bar 2 N/A
18 SEQ0000160 SCREW M6x47 4 N/A
19 SE00000161 Drehknopf BMR102 1 N/A
20 SE21B11160A Rotary knob ring 1 N/A
21 SE@335PC5Z Jack cover 1 N/A
22 SE09173106 HEX SCREW M3x10 1 N/A
23 SE00000162 Battery cover bumper 1 N/A
24 SE09176166 HEX SCREW M6x16 2 N/A
25 SE09176166 HEX SCREW M6x16 2 N/A
26 SE00000165 REAR BUMPER 1 N/A
27 SE00000167 BATTERY COVER 1 N/A
28 SE09163102 SCREW M3x10 2 N/A
29 SE00000168 PACKING 1 N/A
30 SE00000169 Support bar 1 N/A
31 SE00000170 Spring 1 N/A
32 SE00000171 Spring 1 N/A
33 SE09163102 SCREW M3x10 2 N/A
34 SE00000173 Federhalter R BMR102 1 N/A
35 SE09163102 SCREW M3x10 2 N/A
36 SE00000175 Federhalter L BMR102 1 N/A
37 SEQ0000031 BACK UP BATTERY COVER (WHITE) 1 N/A
38 SE021E9010 Battery contact (+) 1 N/A
39 SE021E9020 Battery contact (-) 1 N/A

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:39:53 AM /

Seite 2/4



V77717, dbds

Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232 /777 00

Fax: 02232 /777 00 - 40

Mail: verkauf@makita.at

Web: www.makita.at

Makita Service Information / Model: BMR102W

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
40 SE021E9030 (+/-) Battery contact ass'y 1 N/A
41 SE09163452 SCREW M3x45 1 N/A
42 SEQ0000176 SCREW M6x20 1 N/A
43 SEQ0000178 HANDLE HOLDER (R) 1 N/A
44 SE00000179 Handle 1 N/A
45 SE00000181 HANDLE HOLDER (L) 1 N/A
46 SE00000176 SCREW M6x20 1 N/A
47 SE09176166 HEX SCREW M6x16 1 N/A
48 SE00000184 Spring 2 N/A
49 SE09994007 STEEL BALL 2 N/A
50 SE09994007 STEEL BALL 2 N/A
51 SE00000184 Spring 2 N/A
52 SE09176166 HEX SCREW M6x16 1 N/A
53 SE00000187 HANDLE SUS-PLATE 1 N/A
54 SE09163452 SCREW M3x45 1 N/A
55 SE00000189 REAR CABINET 1 N/A
56 SE0314PC5Z Locker hinger 1 N/A

56.2 SEQ0000067 Locker hinger 1 N/A
57 SE00000190 Battery cover locker 1 N/A
58 SE021PC050 Locker fixer pin 63.8 1 N/A
59 SE021PC040 Locker fixer pin 79.5 1 N/A
60 SE00000191 Rod ant 1 N/A
61 SE021J9032 Rod ant holder 1 N/A
62 SE02439050 PACKING 1 N/A
63 SE00000192 HANDLE SUS-PLATE 1 N/A
64 SE021P0020 Nut 1 N/A
65 SE021PC100 Rod ant terminal 1 N/A
66 SE00000193 SCREW M3x10 2 N/A
67 SE02439030 PACKING 1 N/A
68 SE024]9070 PACKING 4 N/A
69 SE09090023 SCREW M4x12 4 N/A
70 SE00000205 Lautsprechernetz BMR102 1 N/A
71 SE024]9090 PACKING 4 N/A
72 SE024]9040 PACKING 4 N/A
73 SE9076146A HEX SCREW M6x14 4 N/A
74 SE023PC020 Eva 25x18x5.5 1 N/A
75 SE021J9010 Speaker holder 1 N/A
76 SE024PC040 PACKING 1 N/A
77 SE00000195 W/TIES 100MM 1 N/A
78 SE09163102 SCREW M3x10 1 N/A

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:39:53 AM /

Seite 3/4



V77717, dbds

Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend
Tel: 02232 /777 00

Fax: 02232 /777 00 - 40

Mail: verkauf@makita.at

Web: www.makita.at

Makita Service Information / Model: BMR102W

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis
79 SE09163102 SCREW M3x10 2 N/A
80 SE00000098 BATTERY HOLDER 1 N/A

80.2 SEQ0000098 BATTERY HOLDER 1 N/A
81 SE09163102 SCREW M3x10 2 N/A
82 SE00000197 KONTAKPLATTE BMR102 1 N/A
83 SE00000193 SCREW M3x10 2 N/A
84 SE00000199 SILICONE RUBBER WASHER 2 N/A
85 SE00000193 SCREW M3x10 2 N/A
86 SE09163062 SCREW M3x6 2 N/A
87 SE00000200 Terminal C 1 N/A
88 SEQ23PC020 Eva 25x18x5.5 2 N/A
89 SE02311000 Spacer (A) 1 N/A
90 SE021]9010 Speaker holder 1 N/A
91 SE024]9030 PACKING 1 N/A
92 SE024]9070 PACKING 4 N/A
93 SE09090023 SCREW M4x12 4 N/A
94 SE024]9090 PACKING 4 N/A
95 SEQ0000205 Lautsprechernetz BMR102 1 N/A
96 SE024]9040 PACKING 4 N/A
97 SE9076146A HEX SCREW M6x14 4 N/A
98 SE021PC0O30 Battery cover locker 1 N/A
99 SE00000193 SCREW M3x10 2 N/A
100 SE01620771 Speaker 1 N/A
101 SE01620771 Speaker 1 N/A
102 SE00000220 Elektronikbaustein AUX IN 2 1 N/A

1001 SE00000078 AC ADAPTER 3A8D127102B11 1 N/A

(c) 2019 by Makita Austria. All Rights Reserved. Anderungen und Irrtiimer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:39:53 AM /

Seite 4/4


http://www.tcpdf.org

